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1. Find the m45.
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2. Find the m«4.
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3. The variable expressions represent the
angle measures of a triangle. Find the
measure of each angle and then classify

the triangle by its angles.
2x +3x- |0+ lO-X =180

msA = 2x
msB=(3x-10) Ly +loO=180
msC = (110 -x) Uy =€O
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4. Suppose the ratio of the angle Dased on Yhis..
measures of a triangle is 1:3:5. Find the ZX-—ZL o 14
measure of the largest angle. Z )’2’45 { )
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5. Find thwlue of x. +33 +232
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6. Write a congruence statement for the
U wateh the

triangles.
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8. Given that AXYZ = ARST, find the
values of aand b.
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10. Draw and label a figure to represent the
A S
congruent tnangles Then find x.

AABC = ADEF, AB=17, BC=9, AC=13+x,

9. Find x.

DF=7x-18. -
P T ACEBF »316x
o =Tsw—|
M | 5.2=X ]
3= 6x-1%
11. State the congruence postulate or |
theorem you would use to proy 61U
the triangles congruent.
R is the midpoint of R N>
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12. State the congruence postulate or
theorem you would use to prove the
triangles congruent.
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17. Which postulate can be used to prove
the triangles congruent? (Without using
know to be congruent to prove 4YXC =

the third angles theorem.)
JOTHDbY SAS? take cc <iagra—,

and mf)@-_rh‘t 5"""-"‘[5 XET. ;I{_:q;m ]
X g
_xf % .
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M,-(g. Fre sides Sirvounding The te /. .
.. for SASXVEETO € XZ &TH |

14. Which postulate can be used to prove
the triangles congruent? (Without using
the isosceles triangle theorem.)

13. Given £X = 4T, what sides must you

the truangles congruent?

ulm .
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15. Name the theorem or postulate that AA g
"(\"‘L justifies the congruence. AABD =
i 18}
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19. Which postulate can be used to prove
the triangles congruent? (Without using
the converse of the isosceles triangle

theorem.)
paf¥ o8

side —-s-iAe —-side
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. 16. What congruence statement is needed
to use ASA to prove 4ABC = ADEF?

ah-S-h  A-S—ho




20. Which postulate can be used to prove 23. Find the value of x.
the triangles congruent? (Without using
i \,\’-C y _the isosceles triangle theorem.)
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24. 4ABCis equulateral Find x.
o) sides &, so it doeS""'*

79-3;354(13 ot whe 2 SGELI
, 21 wgqaté'sthevalue of x? -3y Y

14x-1
(Ty - 3 (3y + 13)° ¥ 3-'3 LS
L y r2 +2

K ar ° B
8x+11
i‘;{ er5=’qx'"

o & B ,
Simce e (%ﬁ; Wos. A\ witts g_:;i

vertical VU*-(’,XZ_. a” y
ba%émw% be =.

25. Find the values of the variables.

fron T8 ... 2x—7=x+15
2x=7=1%
ZX=22




